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BcTyn

MeToan4Hi pekomeHaauil ansi caMmocTinHOI po6oTn 3 HaB4anbHOI AUC-
unnniny "MornmubneHe BUBYEHHA iIHO3EMHOI MOBM 3a haxoM" yKrnageHo Biano-
BiAHO OO HaB4YanbHUX NnaHiB nepLuoro (6akanaBpCbKOro) piBHA YCix crevianb-
HOCTEN [OEHHOI (OPMM HaBYaHHA Ta MporpamMmm BUBYEHHS iHO3EMHUX MOB
y 3aKnagax BULLOI OCBITU HEMOBHOIO Npointo.

MeToto pob0TK € PO3WNPEHHA aKTUBHOIO Ta MACMBHOMO CITOBHUKOBOIO
3anacy CTYAEHTIB LWIAXOM BUKOHAHHS NEKCUYHMX | rpaMaTUYHNX 3aBAaHb pis-
HOro piBHS ckragHocTi. MeToanyHi pekomeHaauil cknagarTbCst 3 BOCbMU 3Mic-
TOBHUX pO34iniB i MalTb OOHAKOBY CTPYKTYpY, LLO Bigobpaxae maibke BCi
CKNagosi HaBYanbHOI AUCUMMAIHU. Y KOXHOMY pOo3aifli € aBTEHTUYHUA TEKCT AN
YMTaHHSA, Nepekragy i BAKOHaHHA BMpaB Ha PO3YMIHHA MOro 3MicTy. YcCi Bnpasu
MatTb KOMYHIKATUBHY CMPAMOBAaHICTb | HauifeHi Ha 3akpinfieHHs akTUBHOro
CNOBHUKOBOrO 3anacy nif Yac BUKOHaHHSA 3aBAaHb i3 3aCTOCYyBaHHAM (paxoBol
TepMIiHOSOrIl.

[nsi 0BONOAiHHS iHLLOMOBHOK KOMYHIKaTUBHOK KOMMETEHTHICTIO ocobnunea
yBara npuainseTbCcst YA0CKOHANEHHIO EKCUYHNX HABMYOK, TOMY CTYAEHTU MatoTb
3MOry npautoBaTt 3 opuriHanbHUMM Tekctamu. [nga Kpaworo po3yMiHHA maTte-
piany nicna TeKCTy nogaeTbCsl MOACHEHHSA HOBUX abo CKMagHMX JIEKCUYHMX
eNeMeHTIB TEKCTY aHrniCbKOK MOBOH), LLO PO3LUMPIOE CIIOBHUKOBUIM 3anac
CTYOEHTIB, CTUMYSIOE A0 BUKOPUCTAHHS CUMHOHIMIB Yy BI1AaCHOMY MOBJIEHHI.
JlekcnyHi BnNpaBu Nicna TEKCTY CrpUA0Tb 3aKPIiNSIeHHIO HaBWUYOK i HagawTb
3MOry BUKOPUCTOBYBATU BUBYEHUW MaTepian y peanbHUX XUTTEBUX CUTYaLlisIX.
OcobnuBicTiO BNpaB TakoX € NMOBTOPIOBAHICTb JIEKCUYHUX EMIEMEHTIB MK TEMaMu
AN 3aKpinneHHs HabyTnx 3HaHb.

[‘pamaTu4Hi 3aBOaHHA TaKOX HOCATb KOMYHIKATUBHUA XapakTep Ta MakTb
Ha MeTi PO3BUTOK rpaMaTUYHUX HAaBUYOK CTYOEHTIB, PO3BUTOK IX MOBHOI i KOMY-
HIKaTUBHOI KOMMNETEHTHOCTI Ha Basi rpamaTU4YHOro martepiany.

Y npoueci BUBYEHHA HaBYarnbHOI AUCUMMIIHW Y CTYOEHTIB POPMYHOTbCH
BMiHHS1 CAMOCTIHO NpaLoBaTh 3 HaBYarbHUM MaTepianom, BupilysaTn Nnpob-
nemMm, noB's3aHi 3 NPoecinHO AiANbHICTIO, BUKOPUCTOBYHOYM iIHO3EMHY MOBY.

3anponoHoBaHi MaTepiann MoOXyTb CTaTU KOPUCHUMU 151 POPMYyBaHHS
MOBHMX | MOBJTEHHEBUX HABNYOK CTYAOEHTIB.



Unit 1. Recruitment and Selection

Task 1. Read the following text:

When there is a vacancy in a company, it is the job of the Personnel
Manager and his department to manage the recruitment of a new employee.
One way an organization can find staff for job vacancies is to recruit in
company. Management can inform people of new appointments by means of
the firm's notice board or news bulletin. Another possibility is to ask for
recommendations from departmental managers and supervisors. If it is
necessary to recruit outside the company, the personnel department may use
commercial and government employment offices or consultants. It may prefer to
put its own advertisement in a newspaper or magazine.

It is usual for an advertisement to give a short description of the job,
conditions of work and salary, and to invite introductory letters from applicants.
After studying these, management decides who receives an application form.

In order to assess the applications, managers can work from a personnel
specification such as Rodger's Seven-Point Plan. They do not choose applicants
who do not have a good profile. For this reason, it is important that the
application form requests clear information about such things as the applicant's
age, education, qualifications and work experience. It must also ask for references
from other employers or people who know the applicant well. This information
helps management to make a final decision on the number of applicants they
can short-list for interview.

The staff who hold an interview together are called an interview "panel".

It is important that they know what information they need to get from the
applicants. This comes from a careful reading of job descriptions, personnel
specifications, and applications. To help to panel in their selection, some
companies use an interview assessment form. This is used by the panel during
the interview when each applicant is checked under the same point on the form.

Many employers say that the success of a good business begins in the
Personnel Manager's office.

Word study
Vacancy — if a company needs three secretaries, but has only two, then
there is a vacancy for one secretary.
Personnel — the employees of an organization are its personnel. Who
are the employers?



Recruitment — finding personnel for vacancies. The verb from this noun
IS recruit.

Staff — personnel.

Description — picture in words. Describe yourself by giving your age,
colour of hair and eyes, height (cm) and weight (kg).

Conditions — Adrian works from 9 am to 5:30 pm, Monday to Friday,
and on one Saturday in every month he must work from 10 am until 12 noon.
Those are two of his conditions of work.

Applicants — if you want a job, you must apply for it; you must make an
application. A person who applies for a job is known as a job applicant.

Assess — Is the applicant the right age? Does he/she have the necessary
education? Why does the applicant want to work in this company? The
Personnel Manager assessed an application by asking questions of this sort.

Specification — careful description of each necessary point. Wanted: Typist.
Seventy words per minute and some shorthand. What are the specifications in
that advertisement? Can you think of any other specifications for the same job?

Profile — short description of an applicant's important points.

Qualifications — in order to qualify for university, you must first finish
high school. A high-school diploma is a qualification for entering university.

Experience — experience is what you get by living through something
or by working at it.

References — information about the past performance of an applicant.

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. education a) ouiHoBaTH

2. conditions b) ynpaBniHHA

3. personnel C) Aocsig

4. applicant d) npnymHa

5. profile e) ons Toro, wob6

6. to assess f) ocsiTa

7. recruitment g) nocunaHH4

8. vacancy h) GiorpacdiuHnin Hapuc
9. specification 1) onuc

10. management ) wTat

11. experience K) NnpynHATTA Ha poboTy
12. reference l) kaHangat



13. reason m) yMOBWU
14. in order to n) cneundikauiga
15. description 0) BaKaHcis

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) gna Toro, wob ouiHnTK; 2) ymoBWM npaui; 3) NMPUWUHATA OCTaTOYHE
pilleHHs1; 4) dbopma 3asBuM KaHanaaTa; 5) onuc poboTu; 6) BMbMpaTn KaHaANAATIB;
7) OOLIKa oronoLleHb; 8) HOBI NPU3HAYEHHS.

1. in order a) board

2. work b) appointments
3. to make C) to assess

4. application d) form

5. job e) applicants

6. to choose f) conditions

7. notice g) a final decision
8. new h) description

Task 4. Answer the following questions:

1. How can a company find out about the past performance of an applicant?

2. How can a company inform its staff about job vacancies?

3. How can a manager assess application forms?

4. How can a manager check the performance of a person during an
interview?

5. How can applicants describe themselves?

Task 5. Prepare to discuss in groups:

1. Suppose that you have to recruit the following staff. a secretary, a
personnel manager, a trainee manager, an office supervisor, a general labourer.
Give your opinions about the best way to find staff for each of those jobs.

2. Say what you think about the advantages (= good points) and the
disadvantages (= bad points) of using a personnel specification such as Rodger's.

3. Do you believe it is the job of the Personnel Manager to do all of the
recruitment? Give reasons for your answer.



Unit 2. Training

Task 1. Read the following text:

Training must have a purpose, which is defined when a firm analyses its
training needs. A review of manpower planning should include a training analysis
which looks carefully at training from the point of view of the company, its various
departments and personnel. This may show that weaknesses exist in some
departments and that, as a result, training is needed for their staff. Training
needs are based on an analysis of job descriptions and job specifications.

A job description should give details of the performance that is required for
a specific job, and a job specification should give information about the
behaviour, knowledge and skills that are expected of an employee who works in
it. When all of this has been collected, it is possible to make a training
specification. This specifies what the Training Department must teach for the
successful performance of the job, and also the best methods to use in the
training period.

There are many different training methods, and there are advantages
and disadvantages to all of them. Successful training programmes depend on
an understanding of the difference between learning about skills and training
in using them. It is frequently said that learning about skills takes place "off
the job", in the classroom; but training in using those skills takes place "on the
job", by means of such activities as job rotation and planned experience.

It is always difficult to evaluate the costs and saving of a training
programme. The success of such a programme depends not only on the methods
used but also on the quality of the staff who do the training. A company can
often check on savings in time and cost by examining the manual work performed
by operators and technicians who have completed a training programme. The
evaluation of management and supervisory training is much more complex than
that. In order to test the results of management and supervisory training, many
companies have looked at such things as the number of management and
supervisory staff who leave their employment and the number who stay away
from work for reason of health.

Word study
Defined — described exactly. The noun from this verb is definition. Look
up the definition of analysis in your dictionary.
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Analyses — examines and describes the different parts of smth. The
noun is analysis. Canpan has a staff of 62. An analysis of that sentence
shows the subject (Canpan), the verb (has) and the object (a staff of 62).

Manpower planning — planning for the number of staff needed.

Details — small items (= pieces) of information that work together to give
a clear, complete picture. Look back at the definition of the word description in
Unit 1. What details are asked for?

Required — needed; necessary. The noun is requirement.

Behaviour — acting, reacting or doing things in a certain way. How does
water behave when it is heated to 100 °C? How do some employees change
their behaviour in the office if the boss is away?

Skills — special abilities. A skillful labourer does excellent work and
makes very few mistakes.

Methods — ways of doing things. Describe the methods for making
copies that are shown in the illustrations below.

Job rotation — moving workers around ( = rotating them) from one job
to another, to widen their experience. The verb rotate means "move around
and around".

Planned experience — you studied the word experience in Unit 1. Now
say what you think the difference is between planned experience and natural
experience.

To evaluate — value of a thing in money or goods (= market price). To
evaluate something is to find what a thing is worth not only in money but also
in quality, time spent, importance to the company, etc.

Complex — not simple; made up of many related parts, so that much
study is needed in order to understand it.

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. skills a) CKnagHun

2. behaviour b) nepeBara

3. to evaluate c) 6e3 Bigpuey Big poboTn
4. job rotation d) HaBW4KK

5. experience e) NnepeMilleHHs1 pOBITHUKIB
6. complex f) noBefiHka

7. "on the job" g) 3anexatu

8. advantage h) nepconan



9. to depend
10. knowledge
11. personnel
12. department
13. cost

14. "off the job"
15. check on

1) BApTIiCTb, BUTPATU

j) BigAin

K) 3 BigpmBOM Big po60TH
l) nepeBipaTu

m) Qocsig

n) ouiHOBaTH

0) 3HaHH4

Task 3. Make the necessary phrases using the words from the

right and left columns:

1) nepiog HaByaHHS; 2) MaTu UiNb; 3) To4yka 3o0py; 4) onuc poboTu;
5) HagaBsaTtu iHdopmauito; 6) Bigbysatucs; 7) poboTa, WO BUKOHYETHCH;

8) 3aBepLUMTK Nporpamy.
1. to have
. job
. to take
. point of
. training
. to give
. work
. to complete

00O NO O b WDN

a) period

b) view

c) information

d) description

e) performed

f) a purpose

g) place

h) a training programme

Task 4. Answer the following questions:

1. What are training needs based on?
2. What should a job description give?

3. In what case is it possible to make a training specification?

4. What do successful training programmes depend on?

5. How can a company check savings and cost of the training programme?
6. What do some companies do in order to test the results of supervisory

training?

Task 5. Prepare to discuss in groups:

1. Job rotation is sometimes used as a means of training managers.
What are the advantages and disadvantages of this method?

2. Discuss the ways in which we can evaluate management training.

3. Some firms prefer to recruit staff who have received their training in

other companies. Is this a good idea?



Unit 3. Wages and Salaries

Task 1. Read the following text:

The organization and administration of wages and salaries is complex
and varied. In some countries, the Personnel Department has more responsibility
for wages and salaries than the Accounts Department. In others, the Accounts
Department is responsible for calculation and pay, while the Personnel
Department is more interested in negotiations with staff and pay.

If a firm wants to introduce a new wage and salary structure, it will have
to decide on a method of job evaluation and ways of measuring the performance
of its employees. In order to be successful, that pay structure will need agreement
between Trade Unions and management of a clearly defined system for dealing
with problems.

In job evaluation, all the requirements of each job are specified in a
detailed job description. Each of these requirements is given a value, usually in
"points” or “factors"”, which are added together to give a total value for the job.
To pay each job what it is worth, the values are linked to the firm's salary
structure. For middle and higher management, a well-known points method is
the Hay System. This evaluates personnel on their knowledge of the job, their
responsibility and their ability to solve problems. Because of the difficulty in
measuring administrative work, however, job grades there are often decided
without reference to an evaluation system based on points or factors.

In attempting to reach a salaries policy, the Personnel Department should
compare the value of each job with those in the job market. It should also
analyse economic factors such as cost of living and the labour supply.

It is said that payment for a job should vary with any differences in the way
that job is performed. Where it is simple to measure the work done, as In
manual work, monetary incentive schemes and merit awards are often selected.
For indirect workers, where measurement is difficult, methods of additional
payments include bonus schemes based on the performance of the company.

Non-financial incentive schemes are becoming more popular for all
grades of staff. Fringe benefits such as sickness and pension schemes, sports
clubs, housing and canteens are all an accepted part of the conditions of work.

Word study
Varied — of different kinds; not of the same type. Wages and salaries
vary from company to company.
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Calculations — using mathematics to find correct quantities and
amounts. The verb is calculate. To calculate a worker's wages, multiply the
number of hours worked (eg, 40) by the rate for the job (eg, £3.00 per hour) =
40 x £3.00 = =£120.00.

Negotiations — discussions which try to reach agreement on difficult
points.

Structure — way in which all of the parts are put together.

Measuring — evaluating; finding out the quality, quantity (= amount) or
importance.

System — method or plan for linking different parts, or for measuring
and evaluating them. What is the metric (SI) system?

Dealing with — working with the problem or question in order to find an
answer.

Factors — values (eg, factor of 1, factor of 2, etc.) which a company
places on each requirement.

To solve — to make clear; to find an explanation for or give an answer
to. The noun is solution.

Grades — steps or degrees (eg, Grade I, Grade I, etc.) which show how
jobs vary in importance, value to the company, etc.

Attempting — trying.

Policy — special method of action to help in making decisions.

Supply — any quantity or anything which is available for use. The verb
is also supply. What is meant be the law of supply and demand?

Monetary — This is the adjective from money.

Incentive schemes — plans or system which offer workers more in the
week or the month in which they produce more.

Merit awards — increases in wages or salaries that are especially given
(= awarded) as job performance becomes better.

Bonus — any payment to a worker in addition to his or her required
wages, salary or holidays. What is a Christmas bonus?

Fringe benefits — valuable things, eg, free housing, company cars,
given to employees in addition to their wages, salaries and holidays.

Pension — weekly or monthly payments by an employer or government
for past service. Ordinarily, workers receive pensions when they retire
(= leave their jobs because of age or after a certain length of service).

11



Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1.
. calculations

. hegotiations

. fringe benefits
. staff

. bonus

. to attempt

. merit awards

. salary

© 00 NO O~ WN
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to vary

. to deal with

. to solve

. to add

. to be responsible for
. requirements

. monetary

a) neperosBopwu

b) BupiwyBaTu

C) nigpaxyHku

d) 3acnyxeHi Haropoau
e) nobaenatn, gogasatu
f) Bigpi3HATUCA

g) 6yTu BignosigansHNM
h) Bumoru

1) HamaraTucs

]) npemis

K) mogaTtkoBi Ninbru

l) maTn cnpasy

m) wraT

n) rpoLoBum

0) 3apobiTHa nnarta

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) 6yTK 3auikaBreHMM B neperoBopax; 2) ouiHka poboTu; 3) cTpykTypa
BUNMatn 3apobiTHOI nnaTtu; 4) BapTiCTb XWUTTHA; 5) OuiHIOBATM BUKOHAHY
poboTy; 6) pydHa npaus; 7) goaaTkosi BunnaTtu; 8) ymosu npadi.

1.
. job

. salary

. cost of

. to measure

. conditions of
. additional

. manual

0O ~NO O WN

to be interested in

a) structure

b) work

C) payments

d) the work done
e) negotiations
f) evaluation

g) additional

h) living

Task 4. Answer the following questions:
1. What is the Personnel Department responsible for?
2. What is the responsibility of the Accounts Department?

3. How are job "factors"” calculated?

4. How does Hay System calculate its job "points"?
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5. What should the Personnel Department do in an attempt to reach
a salaries policy?

6. What kinds of incentive schemes are becoming more popular for all
grades of staff?

Task 5. Prepare to discuss in groups:

1. Do you agree that any incentive scheme will only be useful for a
limited period of time? Give your reasons.

2. Discuss the problems of evaluating management jobs.

3. What kinds of problems will a company meet when it introduces a job
evaluation system for the first time?

Unit 4. Administration

Task 1. Read the following text:

The function of the office is to perform administrative work. First, it must
provide the necessary communications with customers, banks, government
departments, and other outside organizations. Second, it must service the
information requirements within the company itself. In order to meet these needs
efficiently, the Office Manager must employ the most appropriate business
methods, systems and equipment.

In an efficient administrative structure, clerical operations are organized
so that they add to the profitability of the business. However, in many countries
the number of clerical staff has increased while the total of workers employed
in production has fallen. In Britain, for example, the total workforce in the years
1919 — 1976 went up by 25 %, while the number of people who were employed
in clerical work increased by 150 %. For a country such as Britain, which
depends on a manufacturing base, that can mean inefficiency.

To ensure that office services run smoothly, there must be the means to
check, sort, copy and file correspondence and other paperwork. Today there is
a growing range of machines that can be used to do such jobs. The size and
resources of a company will determine how mechanized or computerized its
office systems are.

The office must give maximum service at minimum cost. A balance must be
kept between production, marketing, and administration. As a company develops
and grows, the contribution of administration will vary in kind and in value.
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The most important objective in the modern offices is the processing of
data in order to provide a means of business control, but in many companies
there are weaknesses in the ability to manage communications efficiently. For
example, some data are often used only by individual managers, and different
departments in the same company may use different data processing systems.
In order to contribute to business efficiency, however, data processing must be
a centralized service. The system that is required is one that looks at the total
needs of a business and therefore assists management in making appropriate
decisions quickly.

Word study

Function — special duty (= necessary action in a job or position) which is
required in the performance of work, activity, etc. What is the function of the
office? Does the word office here refer to rooms and furniture or to personnel?

Communications — information sent out and received.

Efficiently — An efficient system produces maximum output for
minimum input. Efficiency is output divided by input.

Appropriate — having the special qualities required; right; fit; suitable.

Equipment — necessary things, such as machines, furniture and
supplies, for doing a job.

Clerical — This is an adverb from clerk.

Workforce — number of people in work.

Sort — put into groups according to kind or type.

Copy — make another or others of the same. What is carbon paper used
for? What does the abbreviation cc at the bottom of a business letter stand for?

Range — line of similar things to choose from.

Resources — plant, personnel, equipment, money and property which
can be employed usefully.

Will determine — will set limits to.

Mechanized — given to machines to perform.

Computerized — given to computers to perform. A computer is an
electronic machine which performs calculations by means of stored instructions
or information.

Balance — equal weight or importance.

Contribution — amount of useful or valuable input.

Objective — intended result of activity.

Processing — preparing by a special method.
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Data — things which are known; facts (= true statements), figures, items
of information, etc. The singular form, datum, is not often used.
Individual — working alone, without referring to others.

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. staff a) BHECOK

2. to ensure b) 06'ekTUBHUI
3. profitability c) cnabkicTb

4. smoothly d) BignosigHumn
5. to determine e) po3mip

6. contribution f) ponomaraTtu

7. objective g) OOXiOHICTb

8. weakness h) ona Toro, Wwo6
9. appropriate i) 3abe3nevyBaTu
10. to assist ) wTar

11. requirement K) wengko

12. quickly l) BUMOra

13. size m) 3rigHo

14. in order to n) BU3HAYUTU

15. according to 0) rnagko

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) BMpoGHMYa oOcHOBa; 2) BaxnuBa Uinb; 3) obpobka iHopmauii;
4) ypsiaoBi 3aknagu; 5) ooxigHicTb Bi3Hecy; 6) HanbinNbLL CNpUATANBI MEeTOAN;
7) 30BHILLHI OopraHisauil; 8) Bce3pocTarye pi3HOMaHITTA MaLUVH,

1. manufacturing a) departments

2. important b) organizations

3. data c) of the business

4. government d) appropriate methods
5. profitability e) base

6. most f) objective

7. outside g) range of machines
8. growing h) processing
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Task 4. Answer the following questions:

1. What is the function of the office?

2. Why has the number of clerical staff increased?

3. What is necessary to ensure that office services run smoothly?

4. Why must a balance be kept between production, marketing and
administration?

5. Why are some data often used only by individual managers?

6. Must data processing be a centralized service? Do you agree that
most companies employ more office staff than they need? Give your reasons.

Task 5. Prepare to discuss in groups:

1. One of the reasons why managers are sometimes inefficient in making
the right decision is that full information fails to reach them. Do you agree or
disagree with that? Why?

2. How do you think a computerized system may change the office of
the future? Will you be happy to see these changes? Why?

3. Do you agree that most companies employ more office staff than
they need? Give your reasons.

Unit 5. Research and Development

Task 1. Read the following text:

All R&D executives have two major responsibilities: (1) they must ensure
that the company is supplied with technically successful projects, and (2) they
must select the most promising schemes and ideas for the expenditure of R&D
resources. This work is complicated by numerous uncertainties, in as much as
commercial research and development must be based on market forecasts.

If R&D management can provide a regular flow of new and updated
products, the company will benefit in a number of ways. First of all, it will be
able to make full use of expensive departmental resources, development
engineering and available marketing capacity. In addition to that, a flow of new
market winners will provide the business with steady growth in income and
profits. This can also be important psychologically, for it is often on this basis
that those outside the company assess the quality of its management.

The R&D department's job is made more difficult because of the length
of time required to complete its research. In the chemical and pharmaceutical
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industries, for example, it may take five to ten years before a product is a
technical success and a further six to eight years before it reaches full
commercial potential.

To achieve results, R&D must define both the areas that should be
investigated and the objectives that should be achieved in each area. For this
reason, the R&D department must take an interest in all aspects of design,
application, efficiency, and use of appropriate materials. There is a difference,
however, between the development of new consumer products and the
development of new industrial ones. In consumer markets the search for a new
product often begins after a statement of a specific need, and development is
tailored to meet it. In many industrial markets, product development is the result
of work done in the research laboratory. This work is often aimed at a general
need, such as a new kind of medicine or higher operating speeds for machines.
When the new industrial project has been developed, its performance can be
analysed in terms of customer needs.

Word study

Major — of greater importance than others. The opposite is minor (= of
lesser importance than others);

Projects — schemes for things to be done.

Ideas — thoughts; pictures in the mind.

Expenditure — spending; using up of time, money, etc.

Inasmuch as — because; since; for; for the reason that.

Forecasts — ideas about how things may be in the future.

Regular — according to a fixed plan, schedule or arrangement.

Flow — plentiful supply.

Updated — brought up to date; made more modern.

Available — that can be used, had or reached. What may workers do if
they are told that no money is available for a pay increase?

Capacity — ability to contain, hold or receive. What is the capacity of a
normal wine bottle?

Steady — smooth and continuous; not changing suddenly.

Psychologically — the way people think. Psychology is the science that
deals with the mind and behaviour. What is the importance of psychology in
advertising?

Potential — ability to come into being; possibility. A potential customer is
one who can buy, but has not yet actually bought. List some potential dangers
on the average factory floor.
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To achieve —to do successfully. The noun is achievement.

Areas — subjects. Area also means the surface measurement. To find
the area of your desktop in cm? (square centimeters), multiply the length by
the width.

Investigated — studied; looked into.

Aspects — different appearance when something is seen from different
points of view.

Search for — looking for.

Tailored — made to fit specific measurements.

Aimed at — directed towards.

In terms of — relative to. Suppose that two boys have the same father.
How are the boys related? What is the relation between daughter, sister and
parent companies?

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. numerous a) nepemoxeLb
2. expensive b) nocnigpxysatu
3. to achieve C) ycKnagHooBaTu
4. to define d) cnpamoByBaTK
5. winner e) ooporun

6. to promise f) ycnix

7.1t0 assess g) NOLUYK

8. to investigate h) Bu3HauuTtn

9. success 1) 3poCTaHHSA

10. to complicate ]) mocaraTtu

11. growth K) cnoxwnsay

12. to aim l) 6araTouncenbHUn
13. performance m) ouiHoBaTH
14. consumer N) BUKOHAHHA

15. search 0) 06iuaTK

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) perynsipHuin NOwWyk; 2) TeXHIYHUKM ycnix; 3) KOMEePUiINHUI noTeHuian;
4) BCi acnektn; 5) popori pecypcu; 6) crabinbHe 3poCTaHHA; 7) sKicHe
ynpaeniHHA; 8) NPOMUCIIOBUIA NPOEKT.
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1. regular a) aspects

2. technical b) resources

3. commercial c) growth

4. all d) project

5. expensive e) search

6. steady f) management
7. quality g) success

8. industrial h) potential

Task 4. Answer the following questions:

1. What are two major responsibilities of all R&D executives?

2. What is the work complicated by?

3. What ways does the company benefit in?

4. How do you understand the R&D department's job?

5. How many years may it take before a product is a technical success?
6. What does the search for a new product begin after?

Task 5. Prepare to discuss in groups:

1. One of the greatest industrial needs is R&D into better management
techniques. Do you agree? Why?

2. Do you think that all R&D should pay for itself in terms of better
processes and improved products? Give your reasons.

3. When faced with new products in their markets, many companies put
more money into their old products. Why do you think this happens? Why
don't they put money into new products?

Unit 6. Manufacturing

Task 1. Read the following text which is an example of the descriptive
English used in business textbooks:

It is usual to classify types of production as job production, batch
production and flow production. In job production, products are supplied to the
special requirements of a customer, and the whole project is undertaken as one
operation which is completed before passing on to the next. A good example of
this kind of work is shipbuilding. In job production a single item is produced at a
time, whereas in batch production a number of similar items are produced in
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order to meet a continuing sales demand. Batch sizes vary, but the quantity
which is produced amounts to more than immediate requirements, and the
surplus production is stored. Finally, in flow production, the manufacture of a
product proceeds from one operation to another at a planned rate of output.

It is argued that the type of production method which is employed
depends on the development of an individual company. That is to say, many
factories begin manufacturing on a job production basis and proceed, as the
volume of production increases, to batch and flow production methods. This is
not always the case, however, since the type of production is not necessarily
determined by the product volume which is aimed at. In fact, in the car industry,
tools are produced by jobbing methods, components are produced by batch
methods, and the final product is assembled by flow methods.

Flow production is associated with flow layouts, whereas job and batch
productions are associated with process layouts. In a process layout, machines
of a similar type are grouped together in the same section of the factory, and
work in progress is moved from one part of the factory to another. In a flow
layout scheme, the manufacturing equipment is arranged in the same sequence
as the operations performed on the product. Each of these operations must be
capable of processing work at the rate required for assembly of the final product,
and the output for each operation must be balanced in order to provide a
smooth flow of work.

There are advantages in both types of layout. In a process layout system
there is more flexibility, and a greater specialization of machines and labour is
possible, while in a flow layout system it is not necessary to maintain a high
level of stocks or to demand great skill in the workforce.

Word study

Classify — arrange in groups according to a system. Classify these
words: classify, classification, rotate, rotation, produce, production.

Batch — number of things made in one operation.

Whereas — She is tall, whereas he is short. The management team will
be asked to relocate, whereas most other staff will be made redundant.

Quantity — amount; number of things referred to.

Surplus — quantity over and above the quantity which is needed.

Proceeds — goes on; continues (in a certain process).

Argued — The verb argue here means "try to show that something is
true by giving reasons".
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Volume — guantity; amount. A storage container is 1.2 cm long by
80 cm wide by 50 cm deep. What is the volume of the container in cubic
centimeters (cm®)?

This...the case — This is not always the case (= This is not always the
situation).

Determined — defined and decided on.

Components — various parts which make up the whole.

Assembled — put together. What is an assembly line?

Associated — connected; linked; in relation.

In progress — moving forward to completion.

Sequence - order in which one thing follows another; continuous or
related steps in a process.

Flexibility — capability of change or easy alteration. A flexible object is
able to bend without breaking. Why are the necks of some desk-lamps
flexible? What are flexible working hours?

Maintain — keep from falling; keep up.

Level — measured quantity or amount.

Stocks — total amounts of goods in store.

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. quantity a) 3gaTHUK

2. surplus b) Hagnuwok
3. to argue C) nepesaru

4. sequence d) KinbkKicTb

5. similar e) kopabnebynyBaHHs
6. to increase f) nopsagok

7. equipment g) crnoxuseau

8. capable h) nonut

9. advantages 1) cnopuTun

10. necessary J) CXOXUNK

11. shipbuilding K) 36inbLwyBaTu
12. customer l) o6bnagHaHHs
13. requirement m) HeoOXigHWN
14. demand n) NpnbyToK
15. output 0) BUMOra
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Task 3. Make the necessary phrases using the words from the
right and left columns:

1) TMnNu BUPOOHMUTBA; 2) 3a40BOSbHATU NONUT; 3) NOTOYHE BUPOBHULITBO;
4) 3annaHoBaHuMM piBeHb nNpubyTKy; 5) obcar BUMPOBHUUTBA; 6) KiHLEBUN
NpoAyKT; 7) 3abe3neuntn 4itke BMKOHYBaHHS poboTu; 8) BMMaratm BUCOKOI
kBanidgikauii pobounx.

1. types a) a smooth flow of work

2. to meet b) product

3. planned ) production

4. volume d) rate of output

5. final e) great skill in the workforce
6. to provide f) a demand

7. to demand g) of production

8. flow h) of production

Task 4. Answer the following questions:

1. What disadvantages are there in the two layout schemes?

2. Explain why the type of production method does not depend on the
development or size of an individual company.

Task 5. Prepare to discuss in groups:

1. When laying out a factory, what would you take into consideration in
order to maximize production?

2. There is a link between the demand for a product and the method
used in its production. Do you agree? Why?

3. Flow production is efficient only when a large number of requirements
have been met. What are the important requirements for efficient flow production?

Unit 7. Distribution

Task 1. Read the following text:

The function of distribution is to move goods from the producer to the
final consumer or user, and it applies to both industrial and consumer goods
or services. There is a number of channels open to the producer for this
purpose. He can deal directly with the consumer or with middlemen such as
retailers, wholesalers or agents.
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The choice of distribution channel, or combination of channels, is linked to
financial, technical, and market considerations. For example, in the case of a
product which is technically complex, it should be more efficient for the
manufacturer to deal directly with the user, but a cigarette manufacturer, say, with
a product that must be made available to a large number of potential customers,
should find that dealing with a wide range of wholesalers is the best answer.

Circumstances are always changing, however, and this fact influences
channel decisions. In 1963, for instance, J. Lyons and Company, a British firm,
was using the services of one thousand wholesalers when it decided to change
its policy and to deliver its food products directly to its retail customers. Seven
years later, the company was employing the services of middlemen again due
to a further change in policy.

From the manufacturer's point of view, it is the total cost of distribution,
which is significant, and not the costs of individual activities such as
warehousing, order processing, or transport. For example, a company that
reduced the cost of warehousing could find that the cost of transport was
increased, with the net result that the total cost of distribution was also increased.
On the other hand, there are examples where a high cost that had been incurred
in one area resulted in a total net saving owing to cost reductions that had been
made possible in related areas.

This last point is particularly important regarding transport policy.
A company must decide whether it uses its own transport or employs the
services of an outside company. If it decides on the former, it is faced with
complex guestions about the suitability of different types of transport and the
routing choices in freight movement. These decisions will have an effect on,
and must be related to the overall distribution policy.

Word study

Channels — paths or courses through which something moves or passes.

Middlemen — operators between the producer and the consumer.

Retailers — those who sell goods individually or in small quantities
directly to the consumer. The opposite of retail is "wholesale", i.e., the selling
of goods in relatively large quantities, mostly to retailers.

Wholesalers — See the explanation above.

Agents — persons, firms, etc. with the power to act for others. The noun
Is agency. In the usual course of goods in business, where does an agency
come in? Is it possible to have an agency for services? How?
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Combination — bringing together of two or more things so that they
form a union.

Say — imagine for example.

Circumstances — conditions which surround and affect a person or
persons.

Deliver — transfer or hand over. Delivery is the last act in any distribution
process.

Due to — caused by; owing to.

Transport — carrying from one place to another, especially over long
distances. What are the means of transport by road, rail, air and sea?

Net result — result after everything else has been considered; final
result. Businessmen speak of gross and net profits, which are profits before
and after all expenses have been subtracted.

Incurred — met with. The verb incur is often used with reference to
something undesirable (= not wanted or wished for); eg unnecessary expenses,
very high costs, serious losses etc., are all incurred.

Regarding — with reference to; relative to.

The former — the first one of the preceding group of two persons or
things. Corby and McMillan will retire at the end of the month, the former is
65, the latter is 62. Who is younger?

Routing — transporting by a specified course. A route is a way, course
or road which is travelled in going from one place to another. Describe the
route you usually take in going to work.

Freight — large goods or quantities of goods transported by land, sea or air.

Overall — total; including everything.

Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. purpose a) BaHTax

2. circumstances b) npuaaTHICTb

3. wholesaler C) po3apibHuin ToprieeLb
4. to influence d) posnogin

5. to reduce e) BnnueaTu

6. retailer f) 3a3HaBaTK; NpM3BecTH
7. consideration g) 3arasibHUK

8. to deliver h) 3meHwWwyBaTK

9. middleman 1) noctayaTu
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10. to link ]) ONTOBUK

11. to incur K) uinb

12. suitability ) 3B'asyBatn
13. freight m) nocepesHunk
14. distribution n) obcTaBuHU
15. overall 0) po3rnsag

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) NPOAYKTMBHICTb KOMMaHIl; 2) HOBa nporpamMa po3lunpeHHst; 3) aaMiHi-
cTpaTMBHa CTOpPOHa; 4) nepekoHyBaTM YBECb MepcoHan, 5) 3poCTaHHs
NPOAYKTUBHOCTI; 6) KpaLle BUKOPUCTaHHS; 7) Ha Min nornsag,; 8) BipHi cTuMynu.

1. company a) in productivity

2. new b) utilization

3. administrative C) opinion

4. to persuade d) performance

5. rise e) incentives

6. better f) side

7.in my g) expansion programme
8. right h) all personnel

Task 4. Answer the following questions:

1. What is the function of distribution?

2. What is the choice of a distribution channel linked to?

3. Why are circumstances always changing?

4. How many wholesalers was the British firm using the services of?
5. What is the total cost of distribution?

6. Why does a company reduce the cost of warehousing?

Task 5. Prepare to discuss in groups:

1. What factors may influence the choice of a distribution channel?

2. In this period of high competition, marketing considerations should be
the most important of all in designing an organization structure. This means
basing departments on markets and channels by which they are reached, not
on technical production factors. Do you agree? Why?

3. In what circumstances might a company use the services of an agent
for overseas distribution?
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Unit 8. Control of Production

Task 1. Read the following text:

Summary of the report on the use of real time computing
for the control of production

1. Terms of Reference.

On the instructions of the Production Director, to report on the failure of
real time computing facilities to improve the control of production.

2. Procedure.

The report was made after investigation and analysis of all the production
functions and the Management Services Department.

3. Findings.

3.1. Background.

Five years ago the company had a real time EDP system installed in order
to (1) make the measurement of performance against established standards
more efficient and in order to (2) have any deviations from those standards
corrected quickly. The availability of data on such things as the status of
production programmes and the number of labour hours worked were expected
to improve the control of production.

3.2. Present Situation.

The real time system has provided good measurement data and it has
been able to identify deviations from standards. Although this quick identification
of problems has been a valuable service, the development of corrective
programmes has still been required. What is more, the implementation of these
programmes has been a time-consuming job. For example, in the simple case
of quality control, although factory rejects have been quickly noticed, it has taken
a lot of time to identify the causes of those rejects and to implement corrective
programmes.

4. Conclusions and Recommendations.

It is suggested that there has been too much dependence on statistical
data. Secondly, there has been too little consideration of the cost of collecting
real time data and not enough savings in terms of time to justify the cost.

Information on the results of a programme is not good enough.
Management require a system of control that will inform them of how to deal with
potential problems. This means altering our methods to more future-directed
means of control.
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It is recommended that more consideration is given to the status of the
company's network planning techniques, such as critical path analysis and
programme evaluation and review technique (PERT).

Word study

Summary — short statement of the main points.

Real time computing — computing which allows the data of an event to
be processed and used while the event is taking place (= happening);

Terms of reference — statements that limit or define the area under
discussion or report.

Instructions — orders; directions.

Improve — make better; raise to a better condition or quality.

Background — events leading up to something; information which will
help to explain something; brief history to explain a present situation.

Installed — fixed in position, ready for use.

Established — accepted or recognized; set up. Explain what is meant
by Morris Tobacco Ltd. (Est. 1847).

Standards — rules of comparison for measuring quality, value, quantity,
etc. Which monetary standard is the gold standard? In the Sl system, what
are the standard units of measurement?

Deviations — movements away from the correct course, standard,
definition, etc.

Status — existing position, condition or situation.

Identify — show who or what somebody or something is. In many
countries, although not in the UK, identification cards must be carried at all
times. An ID card has a photograph on it and shows a person's name, date of
birth, place of birth, etc.

What is more — in addition; additionally; besides that.

Implementation — putting into practice; putting into operation.

Rejects — things thrown away as useless, worthless, substandard, etc.

Conclusions — decisions or opinions which are formed after thought,
consideration or investigation.

Suggested — put forward as a possibility.

Justify — show to be right or reasonable; altering changing.

Critical path analysis — technique for determining the minimum project
length.
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Task 2. Match the words in the left column with their Ukrainian
equivalents in the right column:

1. failure a) OCHoBa

2. investigation b) BiaXuneHHs
3. background C) 3MiHIOBaTK

4. measurement d) BigmoBNATH
5. quickly e) BMmaraTu

6. although f) 3aowagkeHHdA
7. to implement g) nomunka

8. conclusions h) osHauaTtu

9. savings 1) xo4a

10. deviations ]) BUMiptOBaHHS
11. to justify K) BunpaBaoByBaTn
12. to alter ) wBnako

13. to mean M) BUCHOBKM
14. to reject n) OocnigXeHHs
15. to require 0) BBECTMU B fit0

Task 3. Make the necessary phrases using the words from the
right and left columns:

1) wBnaKo nomivaTtu; 2) ctaTUCTUYHI gaHi; 3) yiHHa cnyxba; 4) poboTa,
LLIO BUMarae b6araTto yacy; 5) 3MmiHa Halmx MeToais; 6) AOCTYMHICTb iIHdopMaLil;
7) peanbHUI Yac po3paxyHkKiB; 8) BunpaBooByBaTN BUTPATW.

1. quickly a) our methods
2. statistical b) real time

3. valuable c) data

4. much time d) the cost

5. altering e) consuming job
6. availability f) notice

7. computing g) of data

8. to justify h) service

Task 4. Answer the following questions:

1. What for was a real time EDP system installed?

2. Why was it necessary to develop the corrective programmes?
3. What were the conclusions as to the control of production?
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4. Did these measurements justify the cost?
5. Why was the implementation of these programmes a time consuming job?
6. Where is control of production implemented?

Task 5. Prepare to discuss in groups:

1. How are planning and control related to each other?

2. What techniques and procedures are useful in the process of
executive control?

3. Was real time information not good enough for effective control of
production?
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